[BX] HM1=] A5 MM

% oA

&l

@)

[a'a]

Wl <

i i K

<| Hu =
S = o
R =
g0 x BF [ S
2 I
ur < K ol S
od ol ok =

> & o

ut — Ny
i N N N
clo ™ lijo —~ __"_____m o) H_I_l
o_o .ﬂ___ G H__l = m\ O._
20 @ uo ° 5
oK - - A_____ ok
o Wgp ROM T |
T W w0 Ul <
1H o T 4K m_w H

d |
1ol ol 1 i —y ﬁ
< N g =oe® <
= Vs WR T | T
%0 - RN & ™ £
ol
& 2 3
(3 -
_n_l (o3
& Bl <F
3l

+ We)

Ho

X of
X2l5to], 2[f217] HOoE 2l X

1. k|m}t 7|9t BCI

(I}, ECG

2
=

)

=
©

X0 =222 AXY.

=13
of

g 37

X0l =222 AX.

(=13
of

£ =

21

oj

16l




